BJ214 SCREW STOP BUTTONS

[RoHS) L imAo

M1 -Hex. Socket-Head Setscrew

M2-Hex. Socket-Head Setscrew
(with brass pad at the end)

o=

Body

Steel (S45C)
Quenched and tempered

Black oxide finish
PartNumber| Mi | Li | Hi| H | W | M L M2 P W(eég)ht
BJ214-08001 |M 6X1 30 7 113 19 |M8X1.25| 10 M5X0.8-12L 7 40
BJ214-10001|M 8x125| 40 | 85| 165 | 22 |M10X15 | 12 ' 8 | 75
BJ214-12001 [M10x15 | 50 | 11 |21 | 24 [wi2xtss] 16 [ .~ [ 0 | 120
BJ214-16001 [M12x1.75| 60 |12 |23 | 30 |Mi6x2 | 20 12 | 210

Hex. Socket-Head Setscrew
(with brass pad at the end)

*)

<= |
%) Minimize this clearance

when installing.
Installation Information

1. Screw in the body completely.

2. Screw back the body and set the adjustment screw.

3. Tighten up the hex. socket-head setscrew to lock
the body.

Use to stop a low-profile workpiece.



